
DS = 1.000 DS 

FC = 0.060 DS 

CP = 1.060 DS = 0.985 CD 

FS = 0.015 CD = 0.016 DS 

CD = 0.800 PVHT = 1.076 DS 

FG = 0.120 PVHT 

CR = 0.920 PVHT 

BA = 0.080 PVHT 

PVHT = 1.345 DS 

 

Si CP = DS + FC 

Alors CP = 1.000 DS + 0.060 DS = 1.060 DS 

Si CR = PVHT – BA 

Alors CR = 1.000 PVHT – 0.080 PVHT = 0.920 PVHT 

CD = CR – FG = 0.920 PVHT – 0.120 PVHT = 0.800 PVHT 

Si CP = CD – FS 

Alors CP = 1.000 CD – 0.015 CD = 0.985 CD 

0.985 CD = 1.060 DS 

0.015 CD = ? DS 

Alors FS = 0.015 x 1.060 / 0.985 = 0.016 DS 

CD = 0.800 PVHT = CP + FS = 1.060 DS + 0.016 DS = 1.076 DS 

0.800 PVHT = 1.076 DS 

1.000 PVHT = ? DS 

1.000 x 1.076 / 0.800 = 1.345 DS 

 


